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Function0l Answers for No.9182

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

AM_[ A={(-4,59),(-2,11),(-1,-1),(0,-5),(1,-1),(2,11)} }
TL2=y(-4,2%2%102) ), (<2, 10°(1/2) ), (-1, 11Y(1/2) ), (0, 2¥3%1/2) ), (1, 13%1/2) ), (2, 14(1/2) ) }

Ansl =

, {Df:{x|x<=0}}
A R={yly<=0}
2 = undefined . {Df: Set of all Real number
3=1 .1 ="a Function" ' R={yly<=1}
Ans3 = 4=1 T An54_[2:"NOTaFunction"}’ , Ans3 = D={x|x>=1}
5=3 | R={yly>=0]
6="h
L. ] [Df: {x|x=/=—1}}
L L=ty 1y =0

Ans6:(Rf:{y|—73<y<:8})
DA ET TR NN ID 0.0.010.0.0:0:0:0:0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0¢
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Function0l Answers for No.9225

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

4 2_[.]:{(—4,2*2’\(1/2)),(-2,]0’\(1/2)),(0,2*3’\(]/2)),(2,]4A(1/2)),(3,15’\(1/2)),(4,4)}}
e= 2={(-4,82),(-2,22),(0,2),(2,22),(3,47),(4,82) ]
]{sz{x|x>=0}}
I R={x|x>=0}
2 = undefined 2:{Df: Set of all Real number
3=-7 .1 ="NOT a Function" ' R={yly<=1}
Ans3 = 4 =undefined | Ans4—[ .2 ="a Function" } , Ans3 = 5 D={x|x>=2}
5=3 T R={yly<=0/}
L.6 = undefined _{sz {x|x=/= _1}}
i R={yly=/=0}

Ans6:(Rf:{y|—]6<y<:9})
DA ET TR LA ID 00.010.0.6:0:0:0:0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0¢
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Function0l Answers for No.9243

.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

P 2_[.1 =L (-5,2%201/2) ), (-4, 3), (-1, 2%351/2) ), (0, 1371/2) ), (1, 14~1/2) ), (5, 3*2A(1/2))}}
8= 2={(-5,121),(-4,76),(-1,1),(0,-4),(1,1),(5,121)}

J{sz {x|x=/= -2}}

Ansl =|°

.2 = undefined :{Df: {x[x<=07
3=2 .1 ="a Function" ' R={x[x>=0}
Ans3 = 4 =undefined | Ansd = [2 ="a Function"} , Ansd = 3 {sz Set of all Real number}
S=4 Tl R={yly>=2}
L.6 = undefined

4_[Df={x|x>=3}}
R={y|y<=0}
Ans6:(Rf:{y|-39<y<= 10})
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Function0l Answers for No.9280

.1 ="NOT a Function"
.2 ="a Function"

Ansl = .3 ="NOT a Function"
.4 ="a Function"
p 2_[1 =L (-4, 7N1/2) ), (-3, 2%2751/2) ), (0, 1IN1/2) ), (3, 1451/2) ), (4, 15%1/2) ), (5, 4)}}
e= 2={(-4,77),(-3,42),(0,-3),(3,42),(4,77),(5,122)}
'I{sz{x|x==-3}}
=4 ] R={yly=/=0}
:2:_2 2:{Df: Set of all Real number
3=-2 .1 ="NOT a Function" ' R={yly<=-3}
Ans3 = 4 =undefined | Ans4—[ .2 ="a Function" } , Ans3 = D={x|x>=1}
S=-11 | R={yly>=0]
L.6 = undefined | {Df: {x|x>= 0}}
i R={yly<=0}

Ans6:(Rf:{y|-]2 <=y<24})
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Function0l Answers for No.9298

.1 ="NOT a Function"
Ans] — .2 ="a Function"
.3="NOT a Function"
.4 ="a Function"
.I:{(l4,IOAUAE),(ZS,IJAUAD),(O,]4AﬂAﬂ),(2,4),(3,]7AHAQ),(4,3*2NVAD)5}

AW:[ 2={(4,74),(-3,39),(0,-6),(2,14),(3,39),(4,74) }

, {Df:{x|x<=0}}
T yZg Rf:{x|xi=_0}
.2 = undefined = [Df: {x|x=/=1}
3=4 .1 ="NOT a Function" ' R={yly=/=0}
Ans3 = 4 =undefined | Ansd _[ .2 ="a Function" } , Ans3 = 5 [sz Set of all Real number}
6_5;; y T Rf:{y|y>=1}
|.6 = undefined | :{Df:{x|x>=1}}
i R={yly<=0/}

Ans6:(Rf:{y|-]3 <=y<36})
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Function0l Answers for No.9329
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function
.4 ="NOT a Function"

p 2_[ d={(-5,53),(4,35),(-3,21),(0,3),(3,21),(5,53)} }
M 2=y (-5,2%M1/2) ), (4, 3), (-3, 10N1/2) ), (0, 1351/2) ), (3. 4), (5, 3%271/2) ) }

D={x|x=/=-2}
T ]{Rf:{yly:/:()}}
D= 1] .2:[2;:{X|xi=gﬂ
- o . =S xlx>=
I TS s TS A
5=-10 '3:{Rf={y|y<=0}}
L6=—~13~h] D, = Set of all Real number
i { R={yly<=2} }

Ans6:(Rf:{y|-69<y<= 12 })
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Function0l Answers for No.9358

.1 ="NOT a Function"
Ans] — 2="a Funct%on
.3 ="a Function"

.4 ="NOT a Function"

s [.1 ={(-5,1071/2) ), (-2, 13N1/2) ), (-1, 141/2) ), (0, 1551/2) ), (1,4), (5, 2%57(1/2) )

]
2={(-5,70),(-2,7),(-1,-2),(0,-5),(1,-2),(5,70)}
i ]_[Df:{x|x=/=-3}}
_ - T R.= —
ST ={y|y=/=0}
2=-9 2:[Df:{x|X>:']}
3=-8 .1 ="a Function" ' R={yly<=0}
Ans3 = 4=-8 AnS4_[2=”NOTaFunction"}’ , Ans> = ; D={x|x<=0/
5=-10 T R=(x|x>=0]
L.6=—h] {sz Set of all Real number}
L R={yly>=-3}
Anséz(Rf:{y|-]2<=y<69})
X [Page = 0007]
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Function0l Answers for No.9362
.1 ="a Function"

.2="NOT a Function"
Ansl = " -
.3 ="a Function
.4 ="NOT a Function"
msn | A= (2030 (1 10°1/2)) (0, 1IN1/2)), (1,2%3N1/2) ), (2, 13Y(1/2) ) (3, 145(1/2)) }]
we=l 2={(-2,10),(-1,1),(0,-2),(1,1),(2,10),(3,25)) ]
i {Df: Set of all Real number}_

L R={yly>=-3)

=11
2=5 P Df:{x|X<:0}
3=5 [1:”aFunction"} T R={y|y<=0/
Ans3 = ' Ans4 =| . Ans5 =
ns3 4 = undefined| ~° nsd .2="aFunction" [ ~’ 753 5 {sz {X|x>=2}}
=0 TR ={yly>=0]

L.6 = undefined {Df: {x|x=/= 3}}
TR={yly=/=0}

Ans6 =(R,={y|-7<=y<29})
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Function0l Answers for No.9408
.1 ="a Function"
Ans] — .2 ="NOT a Function"
"E=1 3= "NOT a Function"

.4 ="a Function"

p 2_[ d={(-5,79),(-3,31),(-2,16),(0,4),(2,16),(3,31)} }
T 2= 1(-5,2%:1/2) ), (-3, 1071/2) ), (-2, 1IN1/2) ), (0, 13%1/2) ), (2, 15%1/2)), (3, 4)}

[Df: {x|x>=1}}

C s CR={yly<=0}
s 2:{Df:{x|x=/=-]}
3= .1 ="NOT a Function" ' R={yly=/=0}

Ans3 = 4=_5" , Ans4 —|: 2 = "4 Function" :|9 , Ansjy = ; Df: Set Ofal] Real number}
5=-7 Tl R={yly>=2}

“LR=(x|x>=0)

Ans6:(Rf:{y|-]] <=y<70})
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Function0l Answers for No.9450

.1 ="NOT a Function"
Ans] — .2 ="a Function"
.3="NOT a Function"
.4 ="a Function"
Ans2 :[.1 ={(-4,2%21/2) ), (-2, 101/2) ), (0, 2*31/2) ), (1, 13~1/2)), (2, 141/2) ), (4, 4)}}
2={(-4,35),(-2,11),(0,3),(1,5),(2,11),(4,35)}

i , {Df:{x|x>=]}}
r O R={yly<=0]}
{sz Set of all Real number
.1 ="a Function" - R={yly>=-1}
Ans4 = . Ans5 =
: > Ansd [2 ="a Functlon”}’ > Ans {Df: {x|x=/=2 }}
S5=-13 -

L.6=-2h]

Il
EEN NS )

Ans3 =

KN Wy ~
|

1

O

R={yly=/=0/}

D,={x|x>=0}
P R=txx>=07

Ans6:(Rf:{y|-]2 <y<=13})
POO GO0 000000000000 0000:00:0:0:00000000.0:0.0:0:0:0:0:0:0:0:00.0.00.0:0:0:0.0:0: 0000000000000 0100000 0:0:0:0:0:0:0:00:0.0:0.0:00:0:0:0:0:0: 0.0
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Function0l Answers for No.9469
.1 ="NOT a Function"
.2 ="a Function"
Ansl =

.3 ="NOT a Function"
.4 ="a Function"

AnSZ—[ A={(-4,35),(-3,21),(-2,11),(0,3),(2,11),(4,35)} }
CL2={(-4,3),(-3,10N1/2)),(-2,11(1/2)), (0, 13N1/2) ), (2, 15N1/2) ), (4, 17N1/2)) }
i ; [sz Set of all Real number}_

T 27 T R={yly>=1)}

.2 = undefined 2_|:Df: {x[x>=0]

3=-1 .1 ="a Function" ' R={yly<=0}

Ans3 = 4=-7 [ An54_[2:"NOTaFunction"}’ , Ans3 = ; D={x|x=/=-3}

S=10 T R={yly=/=0}

6=h+16
i ] , {Df:{x|x>=—3}}
L LR={yly>=0/
Ans6 =(R,={y|-74<y<=7})
X [Page = 0011] ‘
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Function0l Answers for No.9730
.1 ="a Function"
Ans] — .2 ="NOT a Function"
"E=1 3= "NOT a Function"

.4 ="a Function"

An&Z:[ A={(-5,70),(-3,22),(0,-5),(2,7),(3,22),(5,70)} }
2={(-5,6%1/2)),(-3,2%21/2) ), (0, 11~1/2)), (2,13N1/2)), (3, 14~1/2) ), (5,4)}
; {Df {x|x<= 0}}
=2 ] Ri={yly<=0;
.2 = undefined S {Df: Set of all Real number}
s I B R it TS IR A
2= {Rf={y|y>=0}}
0=0 D={x|x=/=1}
L {Rf={y|y=/=0}}

Anséz(Rf:{y|-]0<=y<39})
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Function0l Answers for No.9743

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

P 2_[.1 =S (-4,3), (-2, 1IN1/2)), (0, 1371/2) ), (2, 15M1/2)), (4, 171/2) ), (5, 3*2A(1/2))}}
o= 2={(-4,53),(-2,17),(0,5),(2,17),(4,53),(5,80)
]{sz{x|x<=0}}
=5 ] R={yly<=0}
.2 = undefined 2:|:Df: {x|x>=3]
3=-3 .1 ="a Function" ' R={yly>=0}
Ans3 = 4=-1 C 7 An54_[2:"NOTaFunction"}’ > Ans3 = [sz SetofallRealnumber}

;_:_il B Rf:{)’|y<='2}
L 6=-h ] [Df:{x|x=/=1}}
TRty =0y

Ans6 =(R,={y|-74<y<=7})
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Function0l Answers for No.9791

.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

) 2_[ A={(-5,55),(-2,13),(0,5),(2,13),(3,23),(5,55)} }
T 22 0(-5,3),(-2,2%371/2) ), (0, 14~1/2) ), (2, 4), (3, 17%1/2) ), (5, 19%1/2) ) }

J{Df: {x|x=/= -3}}

Ansl =|°

I R={yly=/=0}
2=-3 5 D={x[x>=-2/}
3=-1 I ="a Function" T lR={yly<=0}

Ans3 = A4=30 7 AnS4:[2=”aFunction”}’ , Ansd = D={x|x>=0}
5=3 CR={x|x>=0}
L.6=0]

i R={yly<=3}

Ans6:(Rf:{y|-]2 <=y<24})
POO GO0 000000000000 0000:00:0:0:00000000.0:0.0:0:0:0:0:0:0:0:00.0.00.0:0:0:0.0:0: 0000000000000 0100000 0:0:0:0:0:0:0:00:0.0:0.0:00:0:0:0:0:0: 0.0

{sz Set of all Real number}
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Function0l Answers for No.9807

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

ines _[.1 =1 (-3, 2%3N1/2) ), (-2, 1351/2) ), (0, 15N1/2) ), (2, 17%1/2) ), (3, 3*27(1/2) ), (4, 19A(1/2))}}
o= 2={(-3,22),(-2,7),(0,-5),(2,7),(3,22),(4,43))

Ansl =

D, = Set of all Real number |
S ]{ R={yly<=1 }
.2 = undefined '2:{?‘: {x|xZ:00j}
Ans3 = 4 ='in_dej?ned > Ansd= [2 ;1"1_\102]1TF; Ilii;[;l?:?ion"}’ > AnsS = Djf,: {{ )Jc/ |’ )Jc} >=-1}
5=7 3:{Rf={y|y>=0}}
L.6 = undefined | D={x|x=/=2}
[ {Rf {vly=/= 0}}

Ans6=(R,={y|-9<=y<7})
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Function0l Answers for No.9832

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

A={(-5,119),(-2,14),(0,-6),(2,14),(3,39),(5,119)} }
2={(-5,6N1/2)),(-2,3),(0,111/2)),(2,13~1/2)),(3,14%1/2)),(5,4)}

1_{Df={x|x>=oq
R={yly<=0}
2_[1),: {x|x=/= -3}}
1="NOT a Function"} AnsS — Rf: {yly=/=0}
.2="aFunction" [ ~’ a {Df: Set of all Real number}
R={yly>=3}
L.6=nh. {Df:{x|x>=-3}}
O LR={yly>=0]

Ansl =

Ans2 :[

Ans3 =\’ , ., Ansd= [

XN N W R~
[
S WO = g

Ans6:(Rf:{y|-54<y<= 10})
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Function0l Answers for No.9870
.1 ="a Function"

Ans] — .2="NOT a Funct%on"
.3 ="NOT a Function"
.4 ="a Function"
Ans2:['1 ={(-2,13%1/2)),(-1,14~1/2)),(0,151/2)),(1,4),(2,17N1/2)), (4, ]971/2))}}
2={(-2,14),(-1,5),(0,2),(1,5),(2,14),(4,50)}
i ; {Df: Set of all Real number}_

R={yly>=-1}

 I=-7 ]
.2 = undefined 2:{Df: {x[x>=07
3=-5 .1 ="a Function" ' R={yly<=0}
Ans3=1 o b o AnS4_[2:"aFuncti0n"}° , Ans3 = L[ ixlx==2)
S=-11 TR ={yly>=0]

6=0 | _{Df:{x|x=/=—3}}
R={yly=/=0;}

Ans6:(Rf:{y|-68<y<= 13})
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Function0l Answers for No.10168

.1 ="a Function"
Ans] — .2="NOT a Funct%on"
.3 ="NOT a Function"

.4 ="a Function"

AnsZ—[ d={(-5,103),(-3,39),(-1,7),(0,3),(1,7),(3,39)} }
L2205, 1071/2)), (-3, 2%3N1/2) ), (-1, 1471/2) ), (0, 1551/2) ), (1,4), (3, 3*271/2) ) }

i ]Z{sz{x|x>=-2}}
B 1=0 ] ‘ Rf:{y|y>:0}
2-0 B {Df: Set of all Real number}
3=-2 .1 ="a Function" R={yly<=-1}
Ans3 = 4 = undefined | Ansd = [2 ="NOT a Function"}’ , Ans3 = Di,: {x|x=/=2)}
2=9 ‘3:{Rf={y|y=/=0}}
L.6 = undefined. D,={x|x<=0]
i 4{Rf={y|y<=0}}

Ans6:(Rf:{y|-]3 <=y<I2})
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Function0l Answers for No.10288

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

P 2_[.1 =S4, TN12)), (<2,3), (-1, 10°1/2) ), (0, 11~1/2) ), (2, 13%1/2) ), (4, 15A(1/2))}}
8= 2={(-4,84),(-2,24),(-1,9),(0,4),(2,24),(4,84) ]}

Ansl =

i , {Df:{x|x>=0}}

S R={x|x>=0}

.2 = undefined = [Df: {x|x=/=2}

3=-1 .1 ="NOT a Function" ' R={yly=/=0}

Ans3 = 4=23 5 ) Ans4 —|: 2 = "4 Function" l ) AnsS5 = [Df: Set Ofall Real number:|

P L R=tyly>=-2)

L 6=-h , |:Df:{x|X>:_3}}
. R={yly<=0}

Ans6:(Rf:{y|—]2<=y<4})
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Function0l Answers for No.10502

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

p 2_[.1:{(-5, 6N1/2)), (-4, 7N1/2) ), (-2, 3), (0, 1IN1/2)), (2, 1351/2) ), (5, 4)}}
8= 2={(-5,79),(-4,52),(-2,16),(0,4),(2,16),(5,79)}

; [Df:{x|x=/=3}}
— - = R.= —/—
2=0 5 D={x[x<=0/
3=2 .1 ="NOT a Function" R={y|y<=0}
Ans3 = 4=5 D 5 Ans4 :|: 2 ="a Function" :l: ) Ans5 = |:Df:SeZ‘ Ofall Real number:|
-2:5) L R={yly<=-1}
L.6=0 [Df:{x|x>=3}}
L o R={yly>=0}

Ans6:(Rf:{y|-]3 <y<=12})
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Function0l Answers for No.10562
.1 ="a Function"

Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"
.4 ="a Function"

p 2_[.1:{(-5, 2%01/2) ), (-2, 1INI/2) ), (0, 1351/2) ), (2, 15%1/2) ), (3, 4), (5, 3*2A(1/2))}}
8= 2={(-5,77),(-2,14),(0,2),(2,14),(3,29),(5,77)}

} {Df:{x|x>=0}}

T =5 ] O R={yly<=0}
2=-1 5o D={x[x>=2/
3=-2 .1 ="NOT a Function" o R={yly>=0}

Ans3 = 4 =undefined | °’ Ansd :[ .2 ="a Function" } > Ans3 = D={x|x=/=2}
S5=-6 _Rf:{y|y=/=0}
.6 = undefined
L . {Df: Set of all Real number}
L R={yly<=3}

Ans6 =(R,={y|-29<y<=7})
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FunctionOl Answers for No.10683
.1 ="NOT a Function"
Ansl .2 ="a Function"
nsl = )
.3 ="a Function"
.4 ="NOT a Function"

AnsZ—[ A={(-4,29),(-1,-1),(0,-3),(1,-1),(2,5),(4,29)) }
TL2=((-4,2%27102) ), (-1, 1IN1/2) ), (0, 2%3%1/2) ), (1, 13%1/2) ), (2, 14(1/2) ), (4,4) }

i ; {Df: Set of all Real number}_
_ _ 4T R,= <=1

115 ={y |y }

2=13 5 Dy={x[x>=0/

3=8 [.I ="a Function"} T R={y|y<=0}

Ans3 = 4 = undefined| Ansd = .2="aFunction" [ ~’ Ans5 = 5 D={x|x=/=-2}
S=11 T R={yly=/=0}
1.6 = undeﬁned_ ) {Df: {x | x>= _2}j|

L R={yly>=0}

Ans6 =(R,={y|-16<y<=9})
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Function0l Answers for No.11104

.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

e _[.1 =1 (-4, 10°1/2) ), (-2, 2%3%1/2) ), (-1, 1351/2) ), (0, 14%1/2) ), (1, 15%1/2) ), (4, 3*2A(1/2))}}
nse= 2=4(-4,27),(-2,3),(-1,-3),(0,-5),(1,-3),(4,27)}

]=[Df:{x|x=/=l}}

Ansl =|°

]:_9 Rf:{y|y:/:0}

2=9 :{Df:{ﬂpzo}

3=1 .1 ="NOT a Function" ' R={x|x>=0}

Ans3 = A4=-7 ~ Ans4—[ .2 ="a Function" }’ > AnsS = ; D,={x|x>=-2]

D= LR={yly<=0}
L.6=0

{Df: Set of all Real number}
R={yly>=3}
Ans6 =(R,={y|-28<y<=8})
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Function0l Answers for No.11312

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

Anszz_-]:{(-i 2%2M1/2) ), (-2,3), (-1, 10%1/2) ), (0, 11N1/2) ), (1, 2*%3N1/2) ), (3, 147(1/2) ) }]
- 2={(-3,31),(-2,16),(-1,7),(0,4),(1,7),(3,31)} |
_ J{Df:{x|x<=0}} '
[ 1=9 ] R={yly<=0}
2=9 _ {sz Set of all Real number}
e I T il ST IRt
R :{Rf={y|y>=0}}
L.6=13+ h] Df:{x|x:/:_3}
I :{Rf={y|y=/=0}}

Ans6 =(R,={y|-9<=y<72})
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Function0l Answers for No.11450

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

P 2_[.1 =L (-5, 2%281/2) ), (-1, 2%351/2) ), (0, 1371/2) ), (1, 14%1/2) ), (3,4), (5, 3*2A(1/2))}}
nse= 2={(-5,103),(-1,7),(0,3),(1,7),(3,39),(5,103)

Ansl =

; [Df:{x|x>=-3}}
2 = undefined 2:[1)-’: Set of all Real number

3=-1 .1 ="a Function" . R={yly<=3}

Ans3=l 5 b o AnM_[Z:"aFunction"}’ , Ansd = D,={x|x<=0}
S5=-3 CR={x|x>=0}

6=0

' - [Df: {x|x=/=2}}
R={yly=/=0}

Ans6 =(R,={y|-9<=y<72})
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Function0l Answers for No.12149
.1 ="a Function"

.2 ="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

y 2_‘.1:{(-2,13A(1/2)),(-1,14A(1/2)),(0,15A(1/2)),(1,4),(2,17A(1/2)),(3,3*2A(1/2))}'
we=l 2={(-2,21),(-1,9),(0,5),(1,9),(2,21),(3,41)} ]
J{sz {x|x>=-1}}
R={yly>=0}

[ 1=-16 |
-4 5 D, = Set of all Real number
3=0 1 ="a Function" o R={yl|ly>=-2}
Ans3 = 4 = undefined| Ansd = [2 ="a Function"}’ , Ansy = {Df: {x|x<= 0}}
S=-2 B Rf:{y|y<=0}
L.6= undeﬁned_ ) |:Df: {x | x =/= 2}}
U R={yly=/=0]

Ans6:(Rf:{y|-]2 <=y<13})
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Function0l Answers for No.12181
.1 ="a Function"

Ans] = .2="NOT a Funct%on"
.3="NOT a Function"
.4 ="a Function"
AnSZ:[ d={(-4,69),(-3,41),(-1,9),(0,5),(1,9),(4,69)} }
2=4(-4,1071/72)), (-3,111/2)), (-1,13~1/2)), (0, 14~1/2)), (1, 15N1/2)), (4, 3*2(1/2) ) }
_ [Df={x|x>=0}} ‘
R={yly<=0}

1 =-13 ]
9-9 :[Df:{x|x=/=3}
3=-9 .1 ="a Function" R={yly=/=0}
Ans3 = 4=-9 [ Ansd = [2 ="NOT a Function"}’ , Ansd = ; [Df: {x|x>= 2}}
S=- T ]§::{y|))>=:0}
L6=—h+9. y {Df: Set of all Real number}
L R={yly>=1]

Ans6:(Rf:{y|-]3 <=y<23})
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Function0l Answers for No.12234

.1 ="a Function"
Ans] — .2="NOT a Funct%on"
.3="NOT a Function"
.4 ="a Function"
Ans2:[ A={(-4,35),(-1,5),(0,3),(1,5),(3,21),(4,35)} }
2={(-4,1IN1/72)), (-1,14~1/2)),(0,15%1/2)),(1,4),(3,3*2N1/2)), (4, 19%1/2))}

; _{Df={x|x>= 1}}
=11 ] C O R={yly<=0}
2 _ undefined [sz Set of all Real number}

3=7 .1 ="a Function" B R={yly>=-1}
Ans3 = Ans4 = ) Ans5 =
s3 4 =undefined | nsd [2 ="NOT a Functlon"l , Ans 5 [sz {x|x=/=2 }}
5=11 TTR=(yly==0)
L.6 = undefined.

Rf:{x|x>=0}

4:{Df:{x|x<=0}}

Ans6:(Rf:{y|-]2 <=y<52})
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Function0l Answers for No.12288

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

) 2_[ d={(-4,37),(-2,13),(0,5),(1,7),(2,13),(4,37)} }
T 2204, 1071/2) ), (-2, 2%351/2) ), (0, 1451/2) ), (1, I5N1/2) ), (2, 4), (4, 3%27(1/2) ) }

Ansl =

i ; {Df:{x|x>=3}}
'2:7 {Df: Set of all Real number
3=7 .1 ="NOT a Function" - R={yly>=3}
Ans3 = 4=8 [ Ans4—[ .2 ="a Function" }’ , Ansy = D={x|x<=0}
5=10 | R={yly<=0]
6=2h
- - {Df: {x|x=/=-1 }}
- TlR=ty1y—-0;

Ans6:(Rf:{y|-]3 <=y<23})
X [Page = 0029] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXKXXKXXXKXKXKX KX KX KX KKK KX KX KX KX KX KX KKK KX KX KX KX KX KK KXKKKKKKK



D ERVERHNCIVISENED $.9:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y ML Y A o F A N T 00 10 Jc 1 0) 0.6
Function0l Answers for No.12311

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

, 2_[ I={(-5,119),(-3,39),(-2,14),(0,-6),(2,14),(3,39)] }
MSEZ 2oy (=5, 6712)), (-3, 2%251/2) ), (=2, 3), (0, 1IN1/2) ), (2, 13%1/2) ), (3, 14%(1/2) ) }
]z{Df:{x|x>=3}}
WERE R={yly<=0}
2=-3 ZZ{D,:{xu:/:J}
3=2 .1 ="a Function" ' R={yly=/=0}
Ans3 = A4=120 AnS4_[2="a Function"}’ , Ans3 = D, = Set of all Real number
S=12 I Re=tyly<=-3

Rf:{x|x>=0}

6=0] {Df:{x|x>=0}}

Anséz(Rf:{y|-]0<=y<26})
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Function0l Answers for No.12318

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"

.4 ="NOT a Function"

Ans2 :[.1 ={(-5,2%2N1/2) ), (-1,2*3N1/2)), (0, 13~1/2)), (1, 14~1/2)), (2, 151/2)), (5, 3*2/\(]/2))}}
2={(-5,127),(-1,7),(0,2),(1,7),(2,22),(5,127)}

i ‘]={Df:{x|x<=0}}

R={x|x>=0}

Ansl =

=7
.2 = undefined I [Df: {x|x>=-3}
3=3 .1 ="a Function" . R={yly<=0}
Ans3 = 4=-1 > Ansd= [2 ="NOT a Function"}’ , Ans3 = 5 D={x|x=/=2}
S=-1 R={y|y=/=0}

6=0 ] {Df: Set of all Real number}
R={yly>=3}

Ans6:(Rf:{y|-]] <=y<70})

[Page = 0031] XXXXXXXXXXXXXXXXKXXXXXKXKXXXXKKXKXXXKXKXKXXXKKKXKXXKKKXKKXKKKKX KX KKKXK XX KKK KKK KKK KX KKKX KKK KKK KKK KKK KKK KKK KKKK



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK XXX XXX XXX KKK KKXXXKXXKXKKXMS /2-6400401-00032XX
Function0l Answers for No.12322

.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

p 2_[ d={(-3,25),(-2,10),(0,-2),(2,10),(3,25),(5,73)} }
T 22103, 2%3%1/2) ), (-2, 1371/2) ), (0, 15N1/2) ), (2, 1751/2) ), (3, 3%27(1/2) ), (5, 2*57(1/2) ) }

J{Df:{x|x>=-3}}

Ansl =|°

/=5 R={yly<=0}
.2 = undefined [Df: {x|x=<= 0}}
=" ion" R={x|x>=0
. L Ansd= [.I "a Func‘qon"} , Ans5 = =1 x| }
.2 ="a Function {sz Set of all Real number}

Ans3 =

Il
SN = =

3
4
S

6

R={yly>=-1}
4:{Df:{x|x=/=—3}}
R={yly=/=0}

Ans6:(Rf:{y|-38<y<= 11})

X [Page = 0032] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXXXKKKXK KK KKKK KX KKKK XK KKK KKK KKK KKK KKK KX KKKKKX




X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK KKK KKK KKK XXX KKK KKK XKXXKXKKXMS /2-6400401-00033XX
Function0l Answers for No.12335

.1 ="a Function"
Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"

y 2_[ d={(-4,82),(-3,47),(0,2),(1,7),(3,47),(4,82)} }
M o=t (4,3),(-3,1071/2) ), (0, 13%1/2) ), (1, 14°1/2)), (3,4 ), (4, 17%(1/2) ) }

, {Df:{x|x<=0}}
C s R={x|x>=0}
.2 = undefined 9= Di={x|x>=-2}
3=0 [ .1 ="a Function" } T LR={yy<=0}
Ans3 = 4=0 > Ansd= .2="NOT a Function" [ ~’ Ans3 = 3 [sz Set of all Real number}
;_:_il T R={yly<=-2}
L 6=-h ] [Df:{x|x=/=1}}
T R=ty1y =05

Ans6=(R,={y|-7<y<=9})
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Function0l Answers for No.12340

.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

) 2_[ A={(4,44),(-3,23),(-2,8),(0,-4),(2,8),(4,44) ) }
T o=y (-4, 11N12) ), (-3, 2%351/2) ), (-2, 13%1/2) ), (0, 1551/2) ), (2, 1751/2) ), (4, 1951/2) ) }

i ‘]z{Df:{x|x=/=3}}

Ansl =|°

11 R={yly=/=0}
.2 = undefined 2:[Df: {x|x>=-1}
3=-3 .1 ="a Function" ' R={yly<=0}
A = A = . A =
ns3 A4=-7 , o Ansd [ 2="a Functlon"}’ > Ans ; {Df: Set of all Real number}
S5=12 Tl R={yly<=1}
L.6=17+2h ]

Dy={x|x>=0]
T R=pxlx=0;
Ans6:(Rf:{y|-38<y<= 11})
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Function0l Answers for No.12342
.1 ="a Function"

Ans] — .2="NOT a Function"

571 3="NOT a Function"
.4 ="a Function"

p 2_[.1 = (-5, 2%27:1/2) ), (-3, 10N(1/2) ), (-2, 11N1/2)), (0, 1351/2) ), (3.,4), (5, 3*2A(1/2))}}

8e= 2={(-5,127),(-3,47),(-2,22),(0,2),(3,47),(5,127)

/- D={x|x>=0}
R={x|x>=0}
{Df:{x|x>=2}}

R={yly<=0}

3:{Df:{x|x==-l}}

: R={yly=/=0}

L6=2h. {Df: Set of all Real number}

R={yly<=-2}

/="aF tion"
a runction l ’ Anss =

A = )
ns3 2 ="a Function"

, , Ans4 = [

Ans6 =(R,={y|-40<y<=9})
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Function0l Answers for No.645201

.1 ="NOT a Function"
Ans] — 2="a Funct%on
.3 ="a Function"

.4 ="NOT a Function"

P 2_[.1:{(_5, 67°(1/2) ), (-3, 2%27(1/2) ), (0, 1IN1/2) ), (1, 2*%351/2) ), (3, 14%1/2) ), (5, 4)}}
nse= 2={(-5,129),(-3,49),(0,4),(1,9),(3,49),(5,129) ]

i ; [sz Set of all Real number}_
- - T R= >=_]
q17 ={y |y i /
.2 = undefined _ |:Df‘: {x|x>=-2)}
3=1 .1 ="a Function" R={yly>=0}

Ans3 = 4=4 oo Ansd= [2 ="NOT a Function"}’ > Ans3 = D={x|x=/=-3}
S=4 B R={yly=/=0}
6=0

L. ] , {Df:{x|x<=0}}
i R={yy<=0}

Ans6:(Rf:{y|-23 <y<=13})
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Function0l Answers for No.645202
.1 ="NOT a Function"
.2 ="a Function"
.3 ="NOT a Function"
.4 ="a Function"

P 2_[.1 =L (-4, 1IN1/2) ), (-3, 2%351/2) ), (-1, 14~1/2) ), (0, 15%1/2) ), (1,4), (4, 19A(1/2))}}
8= 2={(4,76),(-3,41),(-1,1),(0,-4),(1,1),(4,76)]

Ansl =

, {Df:{x|x>=0}}
N R={x|x>=0}
.2 = undefined :|:Df: {x|x>=2]
3=4 .1 ="a Function" ' R={yly<=0}

Ans3 = J—4 , ., Ansd= [2 — "NOT a Function"l , Ans5 = [sz Set of all Real number}

P L R={yly<=-1)

L o=ddsh {sz{x|x=/=—3}}
L TLR=tyly 0]

Ans6:(Rf:{y|-]3 <=y<23})
X [Page = 0037] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXKXKXXXKXKXKX KX KX KX KKK KX KX KX XX KX KK KKK KX KX KX KX KX KK KKK KK KKK



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK XXX KKK XXX KKXXKXKXMS /2-6400401-00038XX
Function0l Answers for No.645203

.1 ="NOT a Function"
.2 ="a Function"

Ansl = .3 ="a Function"
.4 ="NOT a Function"
en [1 =L (-4, 10M1/2)), (-1, 13N1/2) ), (0, 14~1/2) ), (1, 15%1/2) ), (4, 3%2(1/2) ), (5, 19A(1/2))}}
e= 2={(4,44),(-1,-1),(0,-4),(1,-1),(4,44),(5,71)
]{Df: {x|x=/= -3}}
B 1:14 Rf:{y|y:/:0}
.2 = undefined 5 {Df: Set of all Real number
3=-4 .1 ="a Function" . R={yly<=2}
Ans3 = 4=-1 7 AnS4_[2="aFuncti0n"}’ , Ansy = D ={x|x>=-2]
D=l TLR={yly<=0]
6=0 D,={x|x<=0}
PR =(x1x>=0}

Ans6:(Rf:{y|—29<y<: 7))
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Function0l Answers for No.645204

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

) 2_[ A={(-5,127),(-3,47),(-1,7),(0,2),(1,7),(5,127)} }
M= 2=y (-5,77:1/2)), (-3,3), (-1, 1IN1/2) ), (0, 2%371/2) ), (1, 1351/2) ), (5, 171/2) ) }

i ; [sz Set of all Real number}_

Ansl =

B I1=11 ] Rf:{y|y<:_]}
.2 = undefined P :[Df: {x|x=/=1}
3=17 .1 ="NOT a Function" ' R={yly=/=0}
Ans3 = 4=17 T Ans4—[ .2 ="a Function" }’ , Ans3 = D.={x|x>=-2}
5=13 L R={yly>=0]
6=2h

4:{Df:{x|x<=0}}
R={yly<=0}
Ans6:(Rf:{y|-7<=y< 74 })

X [Page = 0039] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKXXKKKKX XX KKK KX KKKK KX KKKK XX KKK KKK KKK KK KKKKKKXKKKKKX
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Function0l Answers for No.645205

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

A={(-5,95),(-1,-1),(0,-5),(1,-1),(2,11),(5,95)} }
2={(-5,1071/2)), (-1,14~1/2)), (0, 15%1/2)),(1,4),(2,17N1/2)), (5, 2*5"(1/2))}

{Df: Set of all Real number}_
R={yly>=-1}

Ans2 :[

A=-3
2=13 ZZ{D,.z{xu:/:J}
3=5 .1 ="a Function" ' R={yly=/=0}
Ans3 = 4=230 AnS4_[2=”aFunction”}’ , Ansd = D={x|x>=1/
S=-73 B Rf:{y|y>=0}

6=0
L.6=0] {Df:{x|x>=0}}
L R=E{yly<=0}

Anséz(Rf:{y|-]0<=y<39})
X [Page = 0040] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXXKXXKXXXKXKX KX KX KX KX KKK KX KX KX XX KX KK KXKX KX KX KX KX KX KK KXKKKKKKK



DB VUETHICIVIOHID'S'0:0:0:0:0.0.0:00.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.00.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00.0.0.0.0:0.0.0 UV ET T L LA N [ )L 5D 6'¢
FunctionOl Answers for No.645206
.1 ="NOT a Function"
.2 ="a Function"
.3 ="NOT a Function"
.4 ="a Function"

p 2_[ d={(4,101),(-3,59),(-2,29),(0,5),(2,29),(4,101)] }
M 2=f(-4,3), (-3, 1071/2) ), (-2, 1IN1/2) ), (0, 1351/2) ), (2, 15N1/2) ), (4, 1771/2) )

; [Df:{x|x>=0}} ]
- - R,.= >=
1=-19 ym{xlxmm 0
.2 = undefined 22{[)1; {x|x>=3)
3=3 .1 ="a Function" ' R={yly<=0}
Ans3 = 4 > 5 Ansd= [2 ="a Function"}’ , Ansy = [sz {x|x=/=-3 }}
5 "L R=tyly=—0;
L 6 _ {D = Set of all Real number}
R={yly>=-3}

Ansl =

Il
O = =

Ans6 =(R,={y|-8 <=y <56})
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Function0l Answers for No.645207
.1 ="a Function"
Ans] — .2 ="NOT a Function"
"E=1 3= "NOT a Function"

.4 ="a Function"

) 2_[.1 ={(-4,7N1/2)),(-2,3),(0,11N1/2) ), (1,2*3N1/2)), (2, 13%1/2) ), (4, 15A(1/2))}}
e 2=4(4,61),(-2,13),(0,-3),(1,1),(2,13),(4,61)]
]Z{sz{x|x=/=2}}

C =] R={yly=/=0}
2=-1 :{Df:{XIx<=0}
3=17 .1 ="a Function" ' R={x[x>=0}

Ans3 = 4 =undefined | AnS4_[2="a Function"}’ , Ansd = {sz Set of all Real number}
6_-5261'; ) L R={yly<=-2}
L.O0 = unaejined | :{Df:{x|x>:_]}j|
R={yly<=0}

Ans6 =(R,={y|-74<y<=7})
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Function0l Answers for No.645208

.1 ="NOT a Function"
Ans] — 2="a Function'"
.3="NOT a Function"
.4 ="a Function"
AnsZz['l ={(-5,7N1/2)), (-4,2*%2~1/2)), (-1, 11"(1/2)), (0, 2*31/2)), (1, 13~1/2)), (4, 4)}}
2={(-5,122),(-4,77),(-1,2),(0,-3),(1,2),(4,77)}

i D, = Set of all Real number |
o ]{ R={y|y<=-2] }
.2 = undefined _ [I;f: {x|x >>: _03}}}
Ans3 = 4 ='Lfn:iej?ned > Ansd= ['1 ._2 I:\I '(')aTF?lrljcutIil(()::ll'?n } , Ans3 = fo: {{)i/ |’; =/=-2}
S5=12 '3:{Rf={y|y=/=0}}
L.6 = undefined | D={x[x<=0}
L 4:{Rf={y|y<=0}}

Ans6 =(R,={y|-9<=y<55})
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Function0l Answers for No.645209

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

A={(-5,6N1/2)). (-4, 7N1/2)), (-1, 10%1/2)), (0, 111/2) ), (4, 1571/2) ). (5, 4)}}
2={(-5.71),(4,44),(-1,-1),(0,-4),(4,44),(5,71)

Ansl =

Ans2 z[

, {Df:{x|x>=0}}

T 26 ] R={yly<=0}
2=4 :{D_,:{xl)c:/:—l}
3=4 .1 ="NOT a Function" R={yly=/=0}

Ans3 = 4 =undefined | Ansd _[ .2 ="a Function" } , Ans3 = D={x|x>=3}
5=10 | R={yly>=0]

.6 = undefined

- - {Df: Set of all Real number}

L R={yly<=-1}

Ans6:(Rf:{y|—55<y<:9})
DA ET TR (VU R IED'$/01010.0.0.0:0:0:0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0:0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0¢
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Function0l Answers for No.645210

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

e _[.1 =L (-5, 10N1/2) ), (-3, 2%3(1/2) ), (-2, 13~1/2) ), (0, 1551/2) ), (2, 17%1/2) ), (5, 2*5A(1/2))}}
e= 2={(-5,129),(-3,49),(-2,24),(0,4),(2,24),(5,129)}

, {Df:{x|x>=0}}
_ _ “|R,= <=0
.15 ={yly ) /
.2 = undefined 2:|:Df: {x|x>=2]
3=-4 .1 ="NOT a Function" ' R={yly>=0}
Ans3 = 4=-6 o> Ansd _[ .2 ="a Function" }’ , Ans3 = D={x|x=/=-2}
S5=-6 B R={yly=/=0}
6=0
: - {Df: Set of all Real number}
L R={yly>=-1}

Ans6:(Rf:{y|-5] <y<=13})
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Function0l Answers for No.645211

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4 ="NOT a Function"
Ans2 :[.1 ={(-3,2%2N1/2) ), (-1, 10™1/2) ), (0, 1IN1/2)), (1,2*3~1/2)), (3, 14~1/2)), (4, 15A(1/2))}}
2={(-3,41),(-1,1),(0,-4),(1,1),(3,41),(4,76)}
i ]{sz{x|x=/=-1}}
R={yly=/=0}

Ansl =

=3 ]
2 = undefined . {Df: Set of all Real number
3=0 .1 ="a Function" ' R={yly<=-2}
Ans3= 4 5 b o Ansd= [.2 —"NOT a Function"}’ , Ans3 = D,={x|x>=1)}
5=5 | R={yly<=0/}

. 6=2h | Dy={x|x<=0}
T R={x|x>=0]

Ans6:(Rf:{y|—55<y<:9})
DA ET TR VTR D 0:01010.0.0.0:0:0:0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKX XXX KKK XKLL XKL XKL LKL KKK LXK LXK XKL X KKK KKK KKKKKKMS /2-6400401-00047XX

Function0l Answers for No.645212
.1 ="a Function"

Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"
.4 ="a Function"

P 2_[.1 =L (-5, 7NU2)), (<3,3), (-2, 10°1/2)), (0, 2%371/2) ), (2, 14X1/2) ), (3, 17A(1/2))}}
8e= 2={(-5,123),(-3,43),(-2,18),(0,-2),(2,18),(5,123)}

i D, = Set of all Real number |
-, ]z[ R={yly<=2} }
2=2 o 2{???,”:?3}
Ans3 = A4 ='in_dej?ned ’ , Ansd = [2 ':1"1_\102}1:; I;i[;?:?ion"}’ , Ans3 = Djf: { )Jc/ | )Jc} >=-3}
5=4 '3:{Rf={y|y>=0}}
L.6 = undefined | D,={x|x=/=-3)
[ :{Rf={y|y=/=0}}

Ans6 =(R,={y|-74<y<=7})
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Function0l Answers for No.645213

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

p 2_[ d={(-5,97),(-1,1),(0,-3),(1,1),(2,13),(5,97))} }
T 2= (-5,2%71/2) ), (-1, 2%371/2) ), (0, 1351/2) ), (1, 14(1/2) ), (2, 15N1/2) ), (5, 3%21/2) ) }

[sz Set of all Real number}_

Ansl =

7=-11 R={yly<=-1}
.2 = undefined _ [Df: {x|x=/=1}
3=-7 .1 ="NOT a Function" ' R={yly=/=0}

A = Ans4 = ) A =
ns3 4 =undefined | 54 [ .2 ="a Function" l , Ans D={x|x>=1}
S5=-13 | R={yly>=0]

L.6 = undefined.

4:{Df:{x|x>= 0}}
R={yly<=0}
Ans6 =(R,;={y|-56 <y <=8})
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Function0l Answers for No.645214
.1 ="a Function"
Ans] — .2 ="NOT a Function"
"E=1 3= "NOT a Function"

.4 ="a Function"

a2 I3N2) (<1 14102)), (0, 15Y1/2)), (1,4), (2, 17°1/2)) (5, 2%571/2)) ]]
=l 2={(-2,29),(-1,11),(0,5),(1,11),(2,29),(5,155)} 1
‘]Z[Df:{x|x<= 0}}

_ I<0 - Rf:{y|y<:0}
2=1 :{Df:{XIx>=2}
3=1 .1 ="a Function" ' R={yly>=0}

Ans3 = 4 =undefined| ° AnS4_[2="a Function"}’ , Ans> = {sz Set of all Real number}
6_'5za;lf3 ) L R={yly<=-1}

L.O0 = undefined | :|:Df:{x|x:/:2}}

R={yly=/=0}

Ans6 =(R,={y|-9<=y<40})
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Function0l Answers for No.645215
.1 ="a Function"

Ans] — .2="NOT a Function"
.3="NOT a Function"
.4 ="a Function"
Ans2:[ A={(-2,17),(-1,2),(0,-3),(1,2),(2,17),(5,122)} }
2={(-2,3),(-1,10%1/2)),(0,11I~1/2)),(1,2*3N1/2)),(2,13N1/2)),(5,4)}

]{sz{x|x<=0}}

T =6 ] R={yly<=0}
)= ‘undeﬁned 5 {Df: Set of all Real number

3=2 .1 ="a Function" o R={yly>=-3}

Ans3 = 4=0 o7 An54_[2:"NOTaFunction"}’ > Ans3 = ; {Df: {x|x>=3}}

5=9 T R={yy>=0]

L 6=5+2h | {sz{xu:/:z}}

L T R=yly-0)

Ans6:(Rf:{y|-]0<=y< 71})

X [Page = 0050] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXKXXXKXKXKXXXKKKXKXXKKKKKXKKKKX XX KKK KKK KKK KKK KKKK XX KKK KKK KKK KKK KKK KX KKKKKX
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Function0l Answers for No.645216

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

p 2_[ d={(4,83),(-2,23),(-1,8),(0,3),(2,23),(4,83)} }
M o= f(-4,3), (-2, 1IN1/2) ), (-1, 2%351/2) ), (0, 131/2) ), (2, 15N1/2) ), (4, 17%1/2) ) }

i ; {Df: Set of all Real number}_
L R={yly>=1)

Ansl =

1=-4] :

2=-4 2:{Df={x|x=/=-1}

3=2 .1 ="NOT a Function" ' R={yly=/=0}
Ans3 = 4=8 [ Ansd _[ .2 ="a Function" }’  Ansd = D={x|x>=2}

S5=-10 '3:{19: {yly<= 0}}
- - D={x|x>=0}
T R={x|x>=0}

Ans6 =(R,={y|-7<=y<29})
X [Page = 0051] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXKXXXKXKXKXKX KX KX KKK KX KX KX XX KX KXKXKX KX KX KX KX KX KK KKK KK KKK



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK KKK KKK KKK XKXXKXKXKXMS /2-6400401-00052XX
Function0l Answers for No.645217

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

AnsZ—[ A={(-5,70),(-2,7),(-1,-2),(0,-5),(1,-2),(5,70)} }
TL2=7(-5,3),(-2,2%351/2) ), (-1, 13%1/2) ), (0, 14N1/2) ), (1, 15%1/2) ), (5, 19%1/2) ) }

; {sz{xu::-zq
. B} i =/=
=10 ={y|y=/=0}
2=4 | Preixlx==-1]
3=3 [ .1 ="a Function" } T LR={yy<=0}
Ans3 = 4 =undefined | Ansd = .2="NOT a Function"]" ~’ Ans3 = 5 D, = Set of all Real number
5=8 Tl R={yly<=-3}
_.6:undeﬁned_ Df: {x|x<: 0}
i R={x]|x>=0}

Anséz(Rf:{y|-]0<=y<26})
X [Page = 0052] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXKXKXXXKXKX KX KX KX KX KXXXKX KX KX XX KX KX KKK KX KX KX KX KX KK KKK KK KKK
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FunctionOl Answers for No.645218
.1 ="a Function"
Ans] — .2 ="NOT a Function"
"E=1 3= "NOT a Function"
.4 ="a Function"

p 2_[ d={(4,52),(-3,31),(0,4),(1,7),(3,31),(4,52)} }
T 2204, 77N12) ), (=3, 2%251/2) ), (0, 1IN1/2) ), (1, 2%371/2) ), (3, 1471/2) ), (4, 15%1/2) ) }

I{Df: {x|x=/=3}}
T R={yly=/=0}
.2 = undefined 2= {If){: {xlx >>: _02}1
e PR R vl SIS B A
S=-11 :[Rf={y|y<=0}}
6=0 D, = Set of all Real number
R :{ R={y|ly>=2]} }

Ans6 =(R,={y|-355<y<=9})
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Function0l Answers for No.645219

.1 ="a Function"
Ans] — .2="NOT a Function"
.3="NOT a Function"
.4 ="a Function"
Ans2:[ A={(-4,37),(-3,23),(0,5),(2,13),(3,23),(4,37)} }
2={(-4,2%2Y1/2) ), (-3,3),(0,2%31/2)), (2, 141/2)), (3, 157(1/2) ), (4,4) }

i ; {Df: Set of all Real number}_

.2 = undefined 2:[Df: {x|x>=-1}
3=0 .1 ="a Function" ' R={yly<=0}
Ans3 = 4 =undefined | Ansd = [2 ="a Function"} , Ansd = D={x|x=/=-3]}
5=13 T\ R={yly=/=0}
L.6 = undefined

D,={x|x<=0]
T R=pxlx=0;
Ans6:(Rf:{y|-26<y<= 10})
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Function0l Answers for No.645220

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

AnS2:|:.I:{(—5,Z*ZA(]/Z)),(—4,3),(—3,10/\(]/2)),(0,]3’\(1/2)),(3,4),(4,17’\(1/2))}}
2={(-5,121),(-4,76),(-3,41),(0,-4),(3,41),(4,76)}
i ‘]{sz{xu::-z}}

[ =7 R={yly=/=0}
2=6 2:[2f=§x‘|x>:gj
3=5 .1 ="NOT a Function" ={x|x>=

Ans3 = 4=5 Ans4:[ .2 ="a Function" } , Ansd = D= SfetofallRealnumber
o= :{ R={y|y<=-3} }
~0=2h Df:{x|x>=1}

|
L _[Rf:{y|y<=0}}

Ans6:(Rf:{y|-25<y<= 11})
X [Page = 0055] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXKXKXXXKXKXKX KX KX KX KKK KX KX KX XX KX KX KKK KX KX KX KX KX KK KXKKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXXXXXXXXXX XXX EXXXX XX XXX XXX XXX X XXX KKK XK XXXXKXKXKXXME /2-6400401-00056XX
Function0l Answers for No.645221

.1 ="a Function"
Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"

p 2_[.1 =L (-3, 2%2N1/2) ), (<2, 3), (0, TIN1/2) ), (1, 2%3%1/2) ), (2, 13~1/2) ), (3, 14A(1/2))}}
8= 2={(-3,41),(-2,16),(0,-4),(1,1),(2,16),(3,41)}

; {sz {x|x>=-3}}

_ _ “| R= >=()
1=-15 ={y |y }
2=-11 :{Df:{ﬂpzo}
3=-5 .1 ="NOT a Function" ' R={yly<=0}

Ans3 = 4 =undefined | Ansd _[ .2 ="a Function" } , Ans3 = D={x|x=/=2}
S5=-9 _Rf:{y|y=/=0}
.6 = undefined
- - {Df: Set of all Real number}
L R={yly<=-2}

Ans6 =(R,={y|-8<=y<73})
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Function0l Answers for No.645222
.1 ="NOT a Function"

.2 ="a Function"
.3="NOT a Function"

.4 ="a Function"
Ans2 :[.1 ={(-5,2%2Y1/2) ), (4,3 ), (-1,2*31/2)), (0, 13~1/2)), (4, 17~1/2)), (5, 3*2%1/2))}}
2=4(-5,71),(4,44),(-1,-1),(0,-4),(4,44),(5,71)}

Ansl =

1_{13/,: {x|x>=-2}}

B 1=9 ] Rf:{y|y>:0}
,_ .undeﬁned ) [D )= Set of all Real number

3=-5 .1 ="a Function" o R={yly<=1}

Ans3 = 4=-1 > Ansd= [2 ="NOT a Function"}’ > Ans3 = {Df: {x|x<= 0}}
S=-1 N sz{y|y<=0}

6=0 |:Df={X|x:/:—1}}

| TLR=ty iy =~0)

Ans6:(Rf:{y|-37<y<= 12 })
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Function0l Answers for No.645223

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

) 2_[ A={(4,69),(-3,41),(0,5),(2,21),(3,41),(4,69)} }
T o=y (-4, 1IN12) ), (-3, 2%351/2) ), (0, 15%1/2) ), (2, 1751/2) ), (3, 3%27(1/2) ), (4, 19%1/2) ) )

Ansl =

; [sz Set of all Real number}_

F - 8] Sl R={yly<=2}
2=-6 5o D={x[x<=0/

3=- .1 ="a Function" TR ={y]y<=0}

Ans3 = A4=-17 7 AnM:[Q:"aFunction"l > AnsS = [Df: {x|x=/=2}}
=22 R={yly=/=0]}
L.6=—h] |:Df:{x|x>=—2}}
LR={yly>=0]

Ans6:(Rf:{y|-39<y<= 10})
X [Page = 0058] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXKXKXKX KX KX KX KKK KX KX KX XX KX KK KKK KX KX KX KX KX KK KXKKKKKKK
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Function0l Answers for No.645224

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

) 2_[ d={(-3,42),(-1,2),(0,-3),(1,2),(3,42),(5,122) }
T 2= 1(-3,2%:1/2) ), (-1, 1071/2) ), (0, 1IN1/2) ), (1, 2%371/2) ), (3, 14~(1/2) ), (5, 4) }

} [sz {x|x=/= -3}}
B ]:_10 - Rf:{y|y:/:0}
2 : undefined {Df: Set of all Real number

3=2 .1 ="a Function" o R={yly<=2}

Ans3 = 4==2 7 AnS4_[2="aFuncti0n"}’ , Ans> = ; {Df: {x|x<= 0}}
D=2 TR ={yly<=0}

6=0 i |:Df:{)€|x>:2}}
U R={yly>=0/

Ans6:(Rf:{y|—55<y<:9})
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Function0l Answers for No.645225

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

y 2_[.1 =103, 11N1/2) ), (-2, 2%37(1/2) ), (-1, 13~1/2) ), (0, 1471/2) ), (2,4), (3, 17A(1/2))}}
e= 2={(-3,32),(-2,17),(-1,8),(0,5),(2,17),(3,32)}
]z{Df:{x|x=/=2}}
_ - R.= =/=
1=-10 ={y|y=/=0}
2=-4 2:{Df={XIx>=0}
3=-4 .1 ="a Function" ' R={yly<=0}
Ans3 = 4=-41 AnS4_[2:”NOTaFunction"}’ , Ansd = [sz {X|X>='3}}
S=-6 a Rf:{y|y>=0}
L.6=—h] {sz Set of all Real number}
L R={yly<=-1}

Ans6:(Rf:{y|—56<y<:8})
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Function0l Answers for No.645226

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

p 2_[.1 = (-5, 10M1/2) ), (-1, 1451/2) ), (0, 15%1/2) ), (1, 4), (3, 3*2%1/2) ), (5, 2*5A(1/2))}}
e= 2={(-5,155),(-1,11),(0,5),(1,11),(3,59),(5,155))

i ; [sz Set of all Real number}_

I L R={yly>=-1}

.2 = undefined _ |:Df‘: {x|x>=-1}

3=-3 .1 ="a Function" . R={yly<=0}

Ans3 = 4=-9 oo Ansd= [2 ="NOT a Function"}’ > Ans3 = D,={x|x=/=-3}
S5=2 B R={yl|ly=/=0}

b6=h+9

D={x|x>=0}

i 1= R={x|x>=0}

Ans6 =(R,={y|-9<=y<27})
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FunctionOl Answers for No.645227
.1 ="NOT a Function"
Ans] — 2= aFunct%on
.3 ="a Function"
.4 ="NOT a Function"
An52—|:'1 ={(-5,101/2)),(-1,14~1/2)),(0,151/2)),(1,4),(4,19%12)), (5, 2*5’\(]/2))}}
— 2={(-5,122),(-1,2),(0,-3),(1,2),(4,77),(5,122)}
i [sz {x|x>=-3}}
LR={yly>=0}

=0 ]
2-0 :{sz Set of all Real number
3=-4 .1 ="NOT a Function" R={yly>=-2}
ns3 A4=-7 [ 7 nsd [ .2 ="a Function" }’ , Anso {Df: {x|x<= 0}}
S=11 | R={yly<=0]
L.6=16+2 h]| , |:Df:{x|x:/:2}j|
O R={yly=0)

Ans6 =(R,={y|-9<=y<72})
POO GO0 000000000000 0000:00:0:0:00000000.0:0.0:0:0:0:0:0:0:0:00.0.00.0:0:0:0.0:0: 0000000000000 0100000 0:0:0:0:0:0:0:00:0.0:0.0:00:0:0:0:0:0: 0.0
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Function0l Answers for No.645228

.1 ="a Function"
Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"

A={(-5,79),(-4,52),(0,4),(3,31),(4,52),(5,79)} |
L2={(-5,7N172)),(-4,2%*21/2) ), (0, 2*3~1/2) ), (3, 15™1/2) ), (4,4),(5,171/2)) }]

i ; [Df:{x|x=/=-3}}
C 2o R={yly=/=0}
.2 = undefined

Ans2 =

: [sz{x|x>=-1}
3=0 .1 ="a Function" T LR={yly>=0}
Ans3 = 4=12 >, Ansd= [2 ="a Function"}’ , Ans> =

{sz Set of all Real number}
_ 3=
.gij;z 59::{y|}7>=:2}
6= _ . [Df:{x|x>=0}}
R={y|y<=0}
Anséz(Rf:{y|-36<y<=]3})
X [Page = 0063]

),0:9:9,0:9:9.0:9:9.0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9,0:9:9.0:9:9.0:9:9,0:9:9.0:9.:9.0:9.:9.0,9:9.0:9:9.0,9:9.0:9:9,0:9:9.0:0:9.0,9:9.0,9:9.0,9:9.0.9:9.0:9:9.0,9.:9.0,0:9.0,9:9.0,9:9.0:9:9.0.9.:9.0,0.:9.0,0:¢
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Function0l Answers for No.645229

.1 ="a Function"
2 ="NOT a Function"

Ansl = .3 ="a Function"
.4 ="NOT a Function"
p 2_[.1 = (-5, 2%2:1/2) ), (-4, 3), (-2, 1IN1/2) ), (0, 13%1/2) ), (2, 15Y1/2) ), (5, 3*2A(1/2))}}
8e= 2={(-5,129),(-4,84),(-2,24),(0,4),(2,24),(5,129)
]:{Df:{x|x>=0}}

T -1 R={yly<=0}
2=-11 S| Preixlx==3]
3=-3 [.I ="a Function"} o R={yly>=0}

Ans3 = 4 = undefined| Ansd = .2="aFunction"]” ~’ Ans3 = D={x|x=/=-1}
S5=-7 B R={yly=/=0}
.6 = undefined
- - {Df: Set of all Real number}
L R={yly>=-1}

Ans6:(Rf:{y|-37<y<= 12 })
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Function0l Answers for No.645230

.1 ="NOT a Function"
Ans] — .2 ="a Function"
.3="NOT a Function"
.4 ="a Function"
Ans2:[ A={(-3,33),(-2,13),(-1,1),(0,-3),(2,13),(3,33)} }
2={(-3,1IN1/72)), (-2,2*%3~1/2)), (-1, 13~1/2)), (0, 14~1/2)),(2,4),(3,171/2))}

} {sz{x|x=/=l}}
— — A= R — — /=

P ={yly=/=0}
2=25 S| Drixla==d)
3=-1 [ .1 ="a Function" } o R={yly>=0}

Ans3 = 4 = undefined | Ans# = .2="NOT a Function" [’ Ans3 = 5 D, = Set of all Real number

] .5;2 . T Rf:{)’|y<='3}

|.6 = undefined 4:{Df:{x|x<=0}}
i R={yly<=0}

Ans6:(Rf:{y|-69<y<= 12 })
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